Exercise of portfolio ranking

The performance of five portfolios last year was as follows:

	Portfolio
	Return (%)
	Standard deviation of return (%)
	Beta

	A
	15
	5
	1.2

	B
	5
	4
	0.7

	C
	10
	3
	1

	D
	9
	3
	0.5

	E
	10
	2
	1.2


The riskless interest rate is 3%, and the return of the market is 9%

i. Rank the portfolios using Sharpe’s measure

ii. Rank the portfolios using Treynor’s measure

iii. Rank the portfolios using Jensen’s measure

iv. With reference to your calculations, how well was portfolio E managed?

v. How can you explain the differences in the ranking of the portfolios?
